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A. Multiple choice questions

Instructions: Please fill in the table! Each question in section A is worth 2 points. Choose the one alternative that best completes the statements or answers the question! (If there is seemingly more than one correct answer – the answer should be d.)

	A/1
	A/2
	A/3
	A/4
	A/5
	A/6
	A/7
	A/8

	
	
	
	
	
	
	
	



1.
Cournot competition with homogeneous goods and symmetrical costs results in

A)
higher prices and lower quantities than monopoly.

B)
lower prices and higher quantities than perfect competition.

C)
lower prices and higher quantities than monopoly.

D)
the same price and quantity as monopoly.

E)
None of the above.

2.
A market structure with many small firms with homogeneous products is called  

A)
monopoly. 

B)
oligopoly. 

C)
duopoly. 

D)
monopolistic competition.

E)
None of the above. 
      3.

For a typical firm in Cournot competition (the basic version with homogeneous goods symmetrical cost structures and no capacity constraints), the Lerner index is equal to: 

A)
0. 

B)
|η|, where η is the price elasticity of demand. 

C)
si/|η|, where η is the price elasticity of demand, and si is the firm’s market share.

D)
1​.

E)
None of the above. 

4.
In case of pure bundling, the two products of a company

A)
can only be purchased together, and the proportions in the bundle are fixed.

B)
can be purchased both separately and together.

C)
can only be purchased together, but the proportions in the bundle are not fixed.

D)
can only be purchased separately.

E)
None of the above. 

5.
Suppose that consumers have the same demand function, and the monopolist uses “two-part tariff” as a simple pricing scheme of perfect price discrimination. If the marginal cost of the monopolist is constant (MC = c > 0) then in order to maximize profits, 

A)
the entrance fee has to be c as well.

B)
the usage fee has to be equal to the uniform monopoly price. 

C)
the entrance fee has to be zero.

D)
the usage fee has to be zero.


E)
None of the above. 

6.
Which of the following statements is/are true? Economies of scale, an important attribute of a given production function (technology), means that

A)
it costs less for the firm to produce given quantities of two products together than if two firms were producing them separately.

B)
if all inputs are increased by a given factor λ, output increases by less than that proportional change.

C) 
if all inputs are increased by a given factor λ, output increases by more than that proportional change.

D)
it’s costlier for the firm to produce given quantities of two products together than if two firms were producing them separately.

E)
None of the above.

7.
In order to use price discrimination (to increase profits), a monopolist needs 

A)
information on the consumer characteristics (“who is who on the demand curve”).


B)
to prevent arbitrage (transactions/trade between its customers). 

C)
multiple products (product differentiation). 

D)  At least two of the statements above are true. 


E)  None of the above.


8.
The figure below shows that in the model of spatial differentiation, if the monopolist with one shop in the middle of High Street (represented by the number line segment between 0 and 2) serves the entire market, the consumers living at the ends (0 and 2)

A)
are indifferent between buying the product and not buying it. 

B)
realize the largest consumer surplus of all the consumers. 

C)
realize the same consumer surplus as the consumers in the middle.

D)
realize negative consumer surplus.

E)
None of the above. 


B. Each task (9; 10; and 11) in section B is worth 8 points (maximum: 24 points).

9.
Calculate the Herfindahl-Hirschman indices and the Lerner indices for the industries assuming that the type of competition can be characterized by the Cournot model!
	Firms\Markets (market shares expressed as a percentage figure)
	A
	B
	C
	D

	1
	40%
	50%
	55%
	25%

	2
	40%
	20%
	15%
	25%

	3
	30%*
	20%
	15%
	25%

	4
	
	10%
	15%
	25%

	η (price elasticity of demand)
	-2
	-5/2
	-5/2
	-5

	HHI = ?

Herfindahl-Hirschman Index
	
	
	
	

	LI = ?

Lerner Index (of the market)
	
	
	
	







* Typo: should have been 20%

10. Delta and American Airlines flying directly between San Diego and Toronto 

The airlines know the consumers’ preferences: 50% evening flight from SD (arrival in the next morning at Toronto Pearson International Airport) and 50% morning flight from SD. American Airlines has a frequent flyer program for loyal customers (that is attractive for almost all consumers). Does any of the airlines have a dominant strategy? Determine the Nash equilibrium (or equilibria)! Is (/are) the equilibrium (/equilibria) Pareto efficient? 

11. The market for catering services in Zambia has two main market players

The demand for catering services in Zambia can be represented by the following inverse demand function: P = 9000 − 2Q

The two market players have marginal costs of MC1 = MC2 = 3000. Calculate the market prices, quantities and profits for two scenarios (in both cases, products are homogeneous [perfectly substitutable] and there are no capacity constraints):

(i) Cournot duopoly (simultaneous decisions, the strategic variable is quantity);
(ii) The two firms merge into a single entity (monopoly, with MC = 3000) that uses uniform pricing!
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